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QUESTION 1

Identify the gateway type that disallows an outgoing conditional path.

A. Exclusive

B. Inclusive

C. Parallel

D. Complex

Correct Answer: C

Explanation: A Parallel Gateway creates parallel paths without checking any conditions; each outgoing Sequence Flow

receives a token upon execution of this Gateway Reference: http://training-
coursematerial.com/training/BPMN_2.0_Gateways#Parallel_Gateway (See Parallel Gateway, 2nd line).

QUESTION 2
Which statement is accurate about verbal rules and business phrases?
A. Verbal ruled can be created in Business Process Composer, but not in BPM Studio.

B. For a particular verbal rule, conditions and actions can include derived business phrases or user-defined business
phrases, but not both.

C. Derived business phrases are automatically created by using facts and globals in the rules dictionary.
D. Verbal rules must be created in a separate ruleset from general rules and decision tables.

Correct Answer: BC

QUESTION 3

Which option is unusable as a start point to initiate a new instance of a process?
A. Initiator User Task

B. Call Task

C. Receive Task

D. Message Start Event

Correct Answer: B
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QUESTION 4

Which event will be raised when a case is suspended?
A. Lifecycle

B. Activity

C. Milestone

D. User-defined

Correct Answer: D

QUESTION 5

By default, which two tasks participant roles can change the outcome of a task? (Choose two.)
A. Admin

B. Approvers

C. Assignees

D. Creator

E. Owner

F. Reviewer

Correct Answer: CE

Explanation: The task owner can change both the outcome of the task and the assignments.
The assignee can raise questions about the work, by adding comments into the task to communicate to the owner or

followers about their progress. For example, if an assignee cannot complete the task, they can either change the
assignee back to the owner, or add a comment into the task while changing the task status to "need assistance".
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